.f.:

Total Pages—7 UG/NII/PED/Gen/IVA/13

2015

PHYSICAL EDUCATION
[ General]
PAPER - IVA
Full Marks : 45

Time : 2 hours

The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Hllustrate the answers wherever necessary
- GROUP - A
1. Answer any four questions of the following : 2 x 4
(@) What is obesity ?
(b) Whatis short wave diathermy ?
(¢) Define Relaxation Technique.

(d) Whatis Hyperiension ?
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{e) What is Electro-therapy 7 -
() What do you mean by 'Steam bath' ?

(g) What is Isotonic exercise ?

Answer any two questions of the following : 4x2

(a) State the differences between Isotonic and
Isometric exercise. '

(b) Discuss various method of exercise therapy.

(¢) What is Diabetes mellitus ? Mention the
symtoms of this disease.

(d) Write down the process and importance of
Relaxation technique.

(e) Briefly discuss any one method of
Thermotherapy.

Answer any one question of the following : 9 x 1

(@) What do you mean by Massage therapy ?
Discuss different types of Massage with
their effects. 2+
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(b) What is Rehabilitation ? Briefly describe
‘the basic principle and modalities of
rehabilitation. 2+7

GROUP-B

Answer any three questions of the following : 2 x 3

(a) What is wellness ?
(b) What do you mean by Development ?

(c¢) Mention two major limitations of females
in athletics. '

(d) Define pre-adolescence.

(¢) What are the components of Physical
fitness 7 -

Answer any one gquestion of the following : 4 x 1

(a) "Excrcise is the only way of maintaining
active life style"—Explain.

(b) Describe the exercises suitable for the
pregnant women.
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6. Answer any one question of the following : 10x1

(a) What type of physical activities do you
suggest for different types of disabled
person ? 10

(b) Discuss about physiological changes of
men and women due to aging. Make a brief
exercise list for them. 6+4
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